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°* [f'A + B' means 'A 1s the mother of B', 'A X B' means 'A 1s the sister of B', and
'A * B' means 'A 1s the daughter of B' 1s', then how 1s R related to P 1n the
following expression?

*Ffd'A+B AR HAAZ'A, BHIACIE, 'A x B'HT AT 'A, BHI ST, A *
B' 1 AU ¢ 'A, B I Tl &, 99 Mg =2isies 9 R, P ¥ fohE Jer Eaiferd 82

* R+ V xQxM*P

_A.daughter

>-B. wife |

C. sister
D. Mother




* Select the option that 1s related to the third term 1n the same way as the second
term 1s related to the first term.

* 3 T ot <RI ShITSIT ST ofte U & SHT o Hsiferd & fSr Jehi g8 ve, ved
Uq U Gt gl

* MOSTLY : TPNZMU:: PAjIFY :?
DA




* A, B, C, D, E and F are six persons. C 1s the sister of F. B 1s the brother of E's
husband. D 1s father of A and grandfather of F. The group consists of two
fathers, three brothers and one mother. Who 1s mother?

* A, B, C,D, E 3R F 38 AfK 8l C, F I 5e 8| B, E % UTd [ 918 21 D, A T [T
3T F o1 <TaT | g | a1 fUar, i 91 3 T A 81 AT i 2

== B D
_A.B
s
C.A

D.D
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® In a certain code language,

"SWEET" 1s written as "14" and "POINT" 1s written m

as "28". How will "BREAK" be written in that code 1anguage‘7

© Wﬁfﬁﬁw 9T H, "SWEE

28" h &Y ﬁ LE] dmlﬂw AT H "]7{EAK" CARE TS|

4_@"14"*wﬁm{9| STdT & 3T NT"

! C’>
(Q} A. 19

B. 20

:}%‘T :
DT i

D.22



® Statement:

* Some dogs are bulls./%® ghr\l CIOR
A ——

* All bulls are donkeys./&4T EREICES

° Co&sion:

* I. All dogs are donkeys./&4T @'%]TQT%I X
* [I. Some donkeys are dog;/gw W@;ﬁ%l




® Statement:

* All rats are cats./@l tlc\%, frfeetar &
S fais are calb /S
* Some cats are not dogs./® TelleeT T,

®* Conclusion: -

* I. Some dogs are not rats./$ g)ha, tlc\% 7l a8l X

* II. Some dogs are rats./$® gha, tlc;’é\i 2l )&

SN—




* Select the combination of letters which when sequentially placed in the blank
spaces of the given series will complete the series.

* 37T oh I TSI T T hitstd 59 €1 T8 2Rg et ok Tk LA H shideh ®9 9 T@H
X 2T 9 B ST —
oo 30)

3




* Select the option that gives the correct order of the given words as they would

appear in the English dictionary.

o 39 fehed o7 =9 R S AU 71U S1ecT o 3T U ShH ki S91dT & 19 o SFUSH

STsahIST H fa@rs <)

q =\
* 1 Dish A | 0 /’-
* 2. Discase 2 \ &/ & R5 35 1 4.
. % [)/ LD ‘)9 9 9
S’DTSC:?SS 35 NAC3.2.5. 1.4
* 4. Disjoin S —Pp=—2

e




* From the following alternatives, select the word which cannot be formed using

the letters of the given word.

(&)

o ARG forehedl | © o8 T8 T[T, IS8 14T 71T 21eq 3 ST&T <Al FANT shich el
ST ST HohT 2 ,

.\
Liabilities ' 3 @/ |
AN\ LA A.Lite
P Able
NI C. Like

'D.Table




*'U+ W'means 'U i1s the father of W';

*'U - W'means 'U is the wife of W';

*'U X W'means 'U 1s the brother of W'; And
*'U~+ W'means 'U is the daughter of W'.

* If'K+L+M+N', then how is K related to N? A.Mother
o Jfd'K +~ L +M+ N', @l K, N & forg yerr Heiferg 82 \/B'Daughter
N

D. Sister




®* What was the day of the week on 15th August 2013?

® 15 3TEG 2013 ohl GHTE T i T faq 912

\/(R. Thursday
B. Tuesday

C. Wednesday
D.Monday
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* Rajneesh walks 35 km towards North. He takes a left turn and walks 20 km. He B
takes a left turn and walks 35 km. Then how far (in km) 1s he now from his
starting position?

® TSI I AT SR 35 Terdl <IAdT 81 98 ST X HS STl @ ST 20 Tohet =it =
I8 ST TR T AT & 3R 35 TohHT el =1 T I8 31 3Heh T T © foha]

0 (fereft o ) wr? 1 20km

v e | ¢ o

R = Gkn B. 90
¢ g >={c.20
T D.10/2




* Study the given pattern carefully and select the number which can replace the
question mark (?) 1n it.

* QU TTT Yei sh1 AT LT i I IH AT hT = h{ ST 360 T 1275 (?) !
SIaet Fehdl Bl

R 6
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® Shivani started running from her office, she first ran 16 km towards North, then

she turned towards East and ran\/ 63 km in that direction. How far (in km) and
in which direction 1s Shivani from her office?

o TR A 379 I & ST & AT, 378 Uget 3T Al AR 16 TorrT 1LY, TR g
qa“?ﬁaﬂw“s’ﬂéaﬁtwﬁmﬁ\/éé% %ﬂ?ﬁ@?lﬁr&ﬁmﬁwqmqﬁmw =

(Fepeft ) e Fopg feram 1 2
~<1.A.18, North-East S

—C18Seuth-East

—D 11 North-West

AL,
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* The average age of A, B, C 1s 8 years more than the age of B. If the sum of the
ages of both A and C 1s 56 years, then what 1s the age of B?

* A, B, C 3l 3TH9d 3T B 1 3T & § Y 371k 2| Afe A 3T C G hl 3717 =T AT

56 a9 2, ?ﬁBﬁmm:ﬁ%‘?

A+e+C — R — €
>
A4R+C—3R < 2 9
>(+R-33=2%

—2ZR=29-5(

LAV 3
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®* Which two signs should be interchanged to make the given equation correct?

o 2t TS THISHUT skl T2l 1T o [T o a1 Il ohil IE0R SigdT STHT SMieu?
® 15+5-10 x 8+4=15

A.x 3K -
IS + E—lox8— ¢ NS B. = 3T+
s+ 95 A B C.+ ¥k

(/757 D..+ AT x
@)




¢ Statements: A room looks beautiful with flowers.

* Y Th HHU Bl § Yo fowed 2

®* Conclusion: p

* I: Flowers are grown to decorate the rooms.

* II : A room without flowers looks ugly.

[ : AL SRl G o foTT Fd TSI 21K

o I1 : for L-I&Qd\l JTAT hHIT HET Al %D\
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* A clock gains 5 minutes in one hour and the clock was set at the correct time at

8 am. What time will the clock show at 8 pm on the same day?

* T BT U He | 5 e ot Bielt © 3T 9 8 a1 51! ol 3ieh 69 T He fopat 71T

ol ST & Tt 8 =it st o e feamart
o \\ A.8:20 THT
v ’ a 1 B.8:15 Tt
\ 7 C. 8:30 Tt

DICKEI]
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* How many triangles are there in the given figure?

o & 7TS SATeR{d | foha FrysT 87

A.29
B.41
C.40
D.42



